BITEBL B/ UHB-SIRM  poco coume bk’ (hiB-sc#s  BITEBL

STANDARD CYLINDER B-SI SERIES ISO 15552 STANDARD STANDARD CYLINDER B—-SC SERIES

(® | 9b*|.ﬂ$ﬂ4§/0verall dimension

Os AHTHE (Travel) K
B-SI ar B CHTHE (Travel)
. E F 6 2-Shige Gl
[ A H - /{Air cushioning ser
Y | (& ] ) |
(AN : & e
W 3| = o
\Y ] ,
o UL S 2
w —
s AT (Side)
8L/ N [Q Q[N
rB—SI—) AHTE (Travel) X2
B CHTTRE (Travel) BT (Travel)
. ﬂ-ﬂ}ﬁﬂg (air coshioning screw) B2 (Travel)

: .
| ﬁ @I @ } [ ﬁ 1 B-SC ¢ 32— ¢ 250i# %&/Head

{ @ ﬂﬁISN%ICode A B E F G H
$32 45 33 ¢ 28 48.5 15 27.5
$ 40 50 T ¢ 32 48.5 15 27.5
12/ L (Bore/Symbol)] A | A, |B| C | D | E | F G | H | I d ] K L N
32 142 [ 190 |48 | 94 [ 30 [ 29 |19 | 27 [22 [ 17 | 6 |[M10x1.25| M6 | 13 $00 - il o8 s 18 218
40 7ot e e e 0 | et e il | e fo i ety 31 24 |17 | 7 |M12x1.25/ M6 17 $ 63 75 56 ¢ 38 48 .5 15 27.5
50 175 | 244 |69 | 106 | 40 | 42 |27 | 31 [ 32 |23 | 8 |[Mi16x1.5| M8 | 155
63 190 | 250 |69 | 121 | 45 | 42 | 27 | 33 |32 |23 | 8 |Mi6x1.5| M8 | 16.5 ¢80 94 70 ¢ 47 60 21 33
80 214 (300 |86 | 128 | 45 | 53 |33 | 33 | 40 | 26 | 10 [M20x1.5|M10| 16.5 $100 112 84 647 60 1 33
100 229 (320 | 91| 138 | 55 | 55 | 36 | 37 | 40 | 26 | 10 [M20x1.5| M10| 18.5
125 279 | 398 [119| 160 | 60 | 79 | 40 | 45 | 54 | 41 |13.5 | M27x2 | M12| 23 $ 125 138 104 $ 52 64.5 20 38
160 332 | 484 (152|180 | 65 | 94 |55 | 50 | 72 | 55 | 18 | M36x2 | M16| 25 $160 o 184 462 e e -
200 347 | 514 (167|180 | 75 | 100 | 67 | 50 | 72 |55 | 18 | M36x2 | M16| 25 :
$200 214 163 $62 70.5 30 38
$ 250 267 202 86 93 35 48
M72/#% S (Bore/Symbol)] O P Q R S T Vv W X Y g
32 G1/8 5.5 6 6 47 32.5 12 10 3 30 B A {7k T W/ Kie Ordering Code
40 G1/4 6 7.5 8.5 53 38 16 13 3.5 35
50 G1/4 | 7.5 6.5 9.5 65 46.5 20 17 3.5 40 SC‘ c ‘_ ‘50‘ _ ‘ H ‘ _ l# _[s % R
63 G3/8 7.5 7.5 11.5 75 56.5 20 17 4 45 ] 2 SCEZREUR 4 R T
- 1
80 G3/8 9 7.5 13.5 95 72 25 oo 4 45 I ©32-0100,
100 G1/2 9.5 8.5 13.5 115 89 25 22 4 55 [ HERS/ Magfm ::de 34 RRWEFEE X100,
125 G1/2 | 14 12 14 140 | 110 32 27 4 60 2 [:DRP §1%/Bore EHEH R/ ;‘;f*g%de o R Remark:
160 G3/4 15 12 15 180 140 40 36 4 65 Blank:DRP (@ ®32-9250 Gasket Material . 'k‘R" i Blank:Without magnet . & 200 @250 owpressure casting.
. 2 9:NBR ank:nound tube ) 2/ SCE Available for ©32~® 100 only
200 G3/4 15 12 20 220 175 40 36 5 75 RN = @ #:*&ﬁﬁ S:HtELR 3 # mickey mouse maximum diameter
ERpohen #:mickey mouse tube S:With magnet 100
@ H:FKM : :

33 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>34



BITEBI"

n fﬂ%i‘ﬂ:' K /Standard type

Fr "L HIB-SC A %

STANDARD CYLINDER B-SC SERIES

35 <<<<<<<< www.btbjx.com for More Products

b "L ELB—SC & %

STANDARD CYLINDER B—-SC SERIES

=)

BITEBI

n m %IS%MI'LJ;E‘EEH-H ]ﬁ/lnner structure and material list for main parts
P

1 2 3 4 5 6 89 01 12 13 14 15 16 (] T 6 5 1T 18
Y =
4 L T s e M TR 2 N
1 N
m— N
2
o/ s/
S| &R FS| &AW R
No Name Material No Name Material
1 | EEFFRE (73] 11 | EE AE &
Mut for piston rod Carbon steel Tube Aluminium alloy
B = EEFFORE
2 Anti dust seals il 12 O-ring for piston rod NBR
5 | BB WEHEAS 13| EE BEE
Oil bearing Sinterized bronze Piston Aluminium alloy
AR 2 BAEE iE 2
“ Front cover Aluminim alloy b Piston ring NBR
s | @ w5 15 | % SRk
Air cushioning screw Brass Magnet Ferrite
$HROR S@w
6 O-ring for air cushioning screw NBR 8 Wearing ring POM
S | sEEm W 17| REEE®Z B
Snap ring for air cushion hole screw Spring steel Piston fixing screw Carbon steel
Cushioning seals Back cover Aluminium alloy
9 HEORME NBR 19 HLAT 4208
O-ring for front cover Tie—rod nuts & screw Carbon steel
10 | BEA wH o0 | HFF
Piston rod Carbon steel Tie rod Carbon steel

a =i_fiﬁ*‘ifj“lili/Packing and O—Ring List— . {§ %¢/Single ring piston

i f 2 BEORE B3R BEER o0 B 2 ORI [E
Itemn Rod packing | Cushion packing | End cover O-Ring Magnetic Ring Single ring piston | Piston O-Ring| Cushion O-Ring
Bore size mgriiNo L : = - 1 1 =

¢ 32 BDRP-12 BPP-1622 $32:% 2 $ 31.5% ¢ 24.5:%5| B-COP-32 $12% ¢ 2 8% ¢ 1.5
¢ 40 BDRP-16 BPP-2028 ¢ 403 2 $ 39.53% ¢ 25:%5 B-COP-40 | ¢ 163 ¢ 2.4 8% ¢ 15
¢ 50 BDRP-20 BPP-2837 $50:% $2 $ 49.5% ¢ 353%5 B-COP-50 | $20:% ¢2.4 8% ¢ 1.5
¢ 63 BDRP-20 BPP-2837 $63:% $2 $ 62.5% ¢ 4835 B-COP-63 | ¢20#% ¢ 2.4 $8% 1.5
¢ 80 BDRP-25 BPP-3545 ¢80 2 $ 79.5% ¢ 65:%5 B-COP-80 | ¢25:#% ¢ 2.4 8% 1.5
$ 100 BDRP-25 BPP-3545 ¢ 1003% ¢ 2 $99.53% ¢ 85:%5 | B-COP-100 | $25:#% ¢2.4 $B8X% 1.5
$125 BDRP-32 BPP-4050 $125% ¢2.4 | ¢ 120% ¢ 96:%6 | B-COP-125 | ¢ 32:% ¢ 3.1 $12:#% $1.5
$ 160 BDRP-40 BPP-5060 & 1603 $ 3.1 |$ 1553 ¢ 131.5%6| B-COP-160 | ¢ 403 ¢ 3.1 $12:#% $1.5
$ 200 BDRP-40 BPP-5060 & 2003 $ 3.1 | $ 1953 ¢ 17236 | B-COP-200 | ¢ 403 ¢ 3.1 $12% $1.5
$ 250 BDRP-50 BPP-5774 & 2503 $ 3.1 | $2453% ¢$222:#6 | B-COP-250 | ¢ 503% ¢ 3.1 $16:% $1.5

@) ?E‘ﬂﬂ‘/Packing and O—Ring List— W & {§ %€/ Double ring piston

Hig B B e HEOREA B ER WiEEE gy ) 2 h0RI[E
Itemn Rod packing | Cushion packing | End cover O-Ring Magnetic Ring | Double ring piston |Piston O-Ring| Cushion O-Ring
2 BNo. 1 2 2 2 2 1 2
Bore size mm
¢ 50 BDRP-20 BPP-2837 $50:% $2 G463 ¢ 2235 B-QZ8-5042 $20:% ¢ 24 $8% 1.5
$ 63 BDRP-20 BPP-2837 $63% 2 ¢ 593 ¢ 4035 B-QZ8-6353 $20% ¢ 24 $8#% 1.5
¢ 80 BDRP-25 BPP-3545 ¢ 80 ¢ 2 ¢ 763 ¢ 5835 B-QZ8-8070 ¢25% ¢ 24 $8#% 1.5
$100 BDRP-25 BPP-3545 ¢ 1003 ¢ 2 & 96:% ¢ 7735 | B-QZ8-10090 $25% ¢ 24 $8#% 1.5

www.btbjx.com for More Products >>>>>>>>36



BITEBIT  hift " {GB-SCH I bl iB-sc@s ~ BITEBI

STANDARD CYLINDER B-SC SERIES STANDARD CYLINDER B—-SC SERIES

B &P E/ Mounting kits

n Sk 7IEKTJ‘/Basic specification B-LBE! R <1/B-LB Size
L$32~¢100 va\m_:,” : HSmE 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250
DS & S -@ ._ A—QAP I @ '(SymbOIfBore) - - s ] - o= " 2 i = 2
o7 E F 6 6 — I o AA 152 | 169 | 173 | 184 | 200 | 210 | 221 | 246 | 276 | 323
L ! - - 20 - - $/‘ | AN AC 134 | 140 | 149 | 158 | 168 | 174 | 185 | 206 | 226 | 273
& BN 3939999999 e W _______ AD 95 (14512 | 13| 16 | 18 [ 18 | 20 | 25 | 25
?Q | % g I AE 50 | 57 | 68 | 80 | 97 | 112|138 | 174 | 214 | 267
/ ?%\ D || . lt‘mmm T ﬁ 5] % AF 33 | 36 | 47 | 56 | 70 | 84 |104 | 134 | 163 | 201
WV Wy =TT -8 Y i
S ; s | e AG 20.5(23.5| 28 | 31 | 30 | 30 |35 | 40 [ 50 | 60
_J@.E " 4 o AH 28 | 30 |365| 41 | 49 | 57 | 70 | 91 [113.5| 141
: g B AC+78 (Travel) AP 9 |12 |12 | 12| 14 | 14 |17 | 17| 22 | 26
AT (Side) el 2-4EPIREE (Air cushioning screw) el AAHFTER (Travel) AT 3 3 3 3 4 4 6 8 9 15
a L’é*ﬂﬂ‘/Basic specification
ArTHE (Travel ) x2
B CH{THE (Travel) B+{TH (Travel)
E? L %% P S i B-FARIR/B-FA Size B s 63 | 80 | 100 | 125 | 160 | 200 | 250
1 . H B-FB&! R~ /B-FB Size (Symbol/Bore)
T 7 I Tl o B gy e . BA 28.3 |32.3(38.3 | 38.3| 47.3 | 47.5(52.5 | 62.5|62.5 | 86.5
Eﬂﬁ;:«\ 7 ol — BE . BB 10 | 10 | 10 | 12| 16 | 16 [ 20 | 20 | 25 | 25
% = = _@;ﬂ“ | 5 ‘f =i a BC 47 | 52 | 65 | 76 | 95 | 115 140 | 177 | 217 | 270
\\\\Ef%/} f o / " S Ty BD 33 | 36 | 47 | 56 | 70 | 84 [104 | 134 | 163 | 201
e — © ®© = BE 72 | 84 | 104 | 116 | 143 | 162 | 196 | 248 | 286 | 356
e T L N ry i) K al g il S E[ BF 58 | 70 | 86 | 98 | 119| 138 | 168 | 212 | 250 | 312
&j i BH 65 | 6.5 | 6.5 | 85|10.5|10.5(12.5 | 16.5|16.5 | 20.5
REAE (BorelSymbol] Al A T B [c D [ E[F G [ A1 [ J ” 5 ® ® Q) H AJ 10.5 | 10.5(10.5 | 13.5]16.5[16.5 19 | 25 | 25 | 31
32 140|187 | 47 | 93 | 28 | 32 | 15 [275| 22| 17 | 6 [M10x1.25] M6x1 sae / AK 65 | 65|65 | 85|10.5]10.5/12.5 | 16.5|16.5|20.5
40 142|191 | 49 | 93 | 32 | 34 | 15 |275] 24| 17 | 7 [M12x1.25] Mex1 BP 7 | | s 9 | 11| 11 |14 | 18 | 18 | 22
50 150207 b7 93 38 42 16 |27.5| 32 | 23 8 M16x1.5 M6 x 1 T 33 37 | 47 56 | 70 84 | 104 | 134 | 163 | 202
63 153|210 | 57 | 96 | 38 | 42 | 15 [275] 32| 23 | 8 |[M16x1.5| M8x1.25
80 183|258 | 75 |108| 47 | 54 | 21 | 33 | 40| 26 | 10 | M20x1.5| M10x 1.5
100 189|264 | 75 | 114 47 | 54 | 21 [ 33 | 40| 26 | 10 | M20x1.5] M10x1.5
125 203|291 | 88 [115| 52 | 68 | 20 | 38 | 54 | 41 |13.5| M27x2.0 |M12x1.75
160 239|352 | 113 |126| 62 | 88 | 25 | 38 | 72| 55 | 18 | M36x2.0| M16x2.0
200 244|362 | 118 | 126 62 | 88 | 30 | 38 | 72| 55 | 18 | M36x2.0| M16x2.0 B-CAZ! R~f/B-CA Size
250 294|435 | 141 [153| 86 | 106 | 35 | 48 | 84 [ 65 | 21 | M42x2.0 | M20x 2.5 "eInNE a2 | 40 | 50 | 63 | 86 | 100 | 125 | 160 | 200 | 250
RN 12/ = ( Bore/Symbol ) N (o] P Q R S T Vv W (Symbol/Bore)
32 13.7 G1/8 35 75 5 45 33 12 10 s 48 | 50 | 62 | 75 | 94 | 112|138 | 173 | 213 | 255
40 13.5 G1/4 6 8.2 9 50 37 16 14 T 33 | 37 | 47 | 56 | 70 | 84 | 104 | 134 | 163 | 202
50 13.5 G1/4 8.5 8.2 9 62 47 20 17 DC 34 | 34 | 34 | 34 | 48 | 48 | 32 | 40 | 60 | 70
63 13.5 G3/8 7 8.2 8.5 75 56 20 17 DD 14 | 14 | 15 | 156 | 20 | 20 | 20 | 28 | 30 | 36
22 Lo Sl i 22 L s Z == e DE 12 |14 |14 | 14| 20 | 20 | 20 | 28 | 28 | 36
100 16.5 Gi/2 11 9.5 14 112 84 25 22
e 19 G1/2 10 5 20 138 104 32 o7 DJ 24 | 24 | 24 | 24 | 34 | 34 | 15 |205| 37 | 46
160 19 G3/4 15 6 15 174 134 40 36 DQ 16 | 20 | 20 | 20 | 32 | 32 [31.7[39.7|39.7 | 49.7
200 19 G3/4 15 3 15 214 163 40 36
250 25.5 G1 20 7.5 20 267 202 50 46

37 <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>>38



BITEBI"

br BB -SC A %

STANDARD CYLINDER B-SC SERIES

B 2 E/ Mounting kits

B-CBE/ R~/B-CB

CcC

Size HEINE
- os .. | (Symbol/Hore) 32 | 40 | 50 | 63 | 80 | 100|125 | 160 | 200 | 250
LiT ce 19 | 19 | 19 | 19 | 32 | 32 | 32 | 40 | 60 | 70
eI cD 5 5 3 3 8 8 | 10
g, CE 12 | 14 | 14 14 | 20 | 20 | 20 | 28 | 28 | 36
5 cJ 11 11 11 11 | 21 | 21| 18 | 25 | 37 | 48
Sl CcP 16.3 | 20.3|20.3 | 20.3|32.3| 32.3|32.1 | 40.1| 40.1 | 50.1
- Gl 32 | 44 | 52 | 52 | 64 | 64 | 64 | 80 | 80 | 100
m PAI 41 |51.8|60.3 | 60.3|73.8|73.8| 73 |90.2/90.2| 130
PBI 33.5|455| 54 | 54 |65.5|65.5|64.8 | 80.8|80.8| 108
T @ S 48 | 50 | 62 | 75 | 94 | 112|138 | 174 | 214 | 267
i 33 | 37 | 47 | 56 | 70 | 84 | 104 | 134 | 163 | 202
B-SC#&FIH/Use for B-SC series B-SCIIEF|H/Use for B-SCll series
EB EB
EE EG EE) £
]
/<
K {2/45S(Bore/Symbol) | EB EC ED EE EG EP ET
40 113 | 63 37 63 25 25 30
50 126 | 76 47 76 25 25 30
63 138 | 88 56 88 25 25 30
80 164 | 114 70 114 25 25 35
100 182 | 132 84 132 25 25 38
125 208 | 158 | 104 | 158 25 25 40
160 272 | 200 | 134 | 200 36 36 46
200 318 | 246 | 163 | 246 36 36 46
250 394 | 304 | 202 | 304 45 45 56

B-TC-M%!/B-TC-M Type
B-SCIIE 5| H/Use for SCll series

HO
OHC -
—_—

HA

[

B-TC-M#&EJF|H/Use for B-TC-M series

HD
F—

B-SCHEJ|f/Use for B-SC series

HO HR
HC - .

1 . \
=] PR
B\ = & AR
!____ ____J] . - 4—HP
L \'\ 2 o i %%% \\ i
AT 4 B l i L 2
i v lE EiE B ]
| _]_ } ‘ - | [
L . — i
K12/ 2 (Bore/Symbol) | HA HB HE HF HJ HQ HR HT HP
40 110 80 109 86 50 29 2 12 12
50 110 80 122 99 50 23 2 il 2 12
63 110 80 134 Tkl 50 25 2 12 12
80 120 85 160 137 70 23 2 14 14
100 120 B85 178 155 70 25 2 14 14
125 145 105 211 183 85 23 2 20 18
160 185 140 272 236 130 34 2 25 22
200 185 140 318 282 130 34 2 25 22
250 215 165 394 349 160 43 2 28 26

39 <<<<<<<< www.btbjx.com for More Products

n f‘: ﬂ:ﬁﬁ Tie rod screw

PLAFSRWE 5P B R

TIE BOLT EXTERNAL DIMENSIOMS

BITEBI"

2|5 =
¢ ¥ é
i
e ol A|B| C| D EE F 1T R/ Hi#/%
=0 Order code Weight(g)
M6 40| 6 | 225| 9 | M6x1.0 | 18 B-DNG/B-DNC/B-MB/B-S132/40 10.6
M8 44| 8 | 225 | 12 | MB8x1.25| 18 B-DNG/B-DNC/B-MB/B-SI50/63 19.3
M10 53| 10| 28 | 15 | M10x1.5| 21 B-DNG/B-DNC/B-MB/B-S180/100 35.1
M12 60| 12| 30 | 18 |M12x1.75| 25 B-DNG/B-DNC/B-MB/B-SI125 65.2
n ﬁ'.ﬁﬁ'b'ﬁ Tie rod nut
BEs 2
LiE Symbol A B D EE iT MR 75 BEER
Bore Order code Weight(g)
B-DNG/B-MB32/40
M8 &l 6 8 M6x1.0 | g gcapaos0B-Si3240 | 82
B-DNG/B-MB50/63
M8 21.5 8 12 M8 x 1.25 B-SC63/B-S150/63 11.2
B-DNG/B-MB80/100
M10 25 10 15 M10x1.5 B-SC/B-S180/100 20.1
M12 25 12 18 M12x1.75 B-MB125 29.5
M12 29 12 18 M12x1.75 | B-DNC/B-DNG/B-SI125| 34.2
M16 35 17 24 M16x2.0 B-DNG/B-S1160/200 67.5
n ‘R’.*Fﬂm Tie rod nut
= o,
o A D EE 1T LR &85
Bore Order code Weight(g)
M20 39 31 M20x 2.5 B-DNG250 141
M24 44 35 M24 x 3.0 B-DNG320 210.2

www.btbjx.com for More Products >>>>>>>>4(0



	19
	20
	21
	22

